Math Worksheets

Rewriting Logarithms

2\ Rewrite each equation in exponential form.

1)log; 27 =3 11)log, 1,024 =5
2)log, 128 = 7 12)log,, 144 = 2
3)logg 1,296 = 4 13)logy3 2,197 = 3
4)logs 625 = 4 14) log,s 5 =§
5)logy; 121 =2 15)logg; 3 =
6)log;, 1,728 =3 16)1083125 5 =
7)loge729 =3 17) 1ogs 600 10 zg

8)logs; 729 = 6 18) logs E15 _ 3

9)log, 10,000 = 4
10810 19)log, = = —2

10)log, 343 =3
) logs 20)log, % =b

2\ Rewrite each exponential equation in logarithmic form.

21)25 = 32 28)93 = 729
-5 __ 1
22)43 = 64 2947 =105
-8 __ 1
23)5* = 625 30)37° =
24)113 = 1,331 3)117°2 = —
121
25)3% = 243 32)1273 = —
1,728
26) 6* = 1,296 33)475 = ——
1,024
27) 7% = 2,401 34)1075 = —
100,000
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Rewriting Logarithms

1) 33 =27
2)27 =128

3) 6% = 1,296

4) 5% =625
5)112 =121

6) 123 =1,728
7) 93 =729

8) 36 =729

9) 10 = 10,000
10) 73 = 343
11) 45 =1,024
12) 122 = 144
13) 133 = 2,197
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Answers of Worksheets

14) 252 =5
15) 817 = 3
16) 31255 = 5

1
17) 1,0003 = 10

18) 573 = —
125
2 _1
19) 472 = —
b_7
20) a =3

21) log, 32 =5
22) log, 64 =3
23) logs 625 =4

24) logy; 1,331 = 3

25) logs 243 =5
26) logg 1,296 = 4
27) log; 2,401 = 4
28) logg 729 = 3
1 [ —
29) 10g4 m = -5
1 [ —
30) 10g3 @ = -8
1 [ g—
1
32) 10g12 % =-3

1
33) 10g4 m = -5

1
34) logso 100,000 =5



